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TaOmuna 27

. YpaBHeHue YpaBHEHHE OTHOCU-

OMep ABYDKEHUS TEJIBHOTO IBWKEHUS | t;, | R a a
3aJlaHus tena D Toukn M c CM’ CN’I rpa’,u
Tab. 26 | @, = fl(t) ,pan | S, =0M = fy(t), cm

1 23 _t2 18Sin(nt/4) 2/3 | = 25 _
2 0,4t% +1 20sinmxt 53 |20 | - -
3 2t +0,5t° 6t3 2 | - | 30 -
4 0,6t 2 10sin(nt/6) 1 | - - 60
5 3t-0,5t3 40mcos(nt/6) 2 |30 | - -
6 Xg = 2t +1t2 ¢, =150nt? 16 | 25 | - -
7 0,5t 2 20cos2mt 318 | - | 40 60
8 t3 —5t 6(t+0,5t2) 2 | - | - 30
9 At +1,6t2 10+10sin2xt 18| - | - -

10 1,2t —t2 20mcos(nt/4) 43 | 20 | 20 _

11 2t2 — 0,5t 25sin(nt/3) 4 | - | 25 _

12 5t — 4t 2 15(nt3/8) 2 (30| 30 -

13 8t2 — 3t 120nt? 13 | 40 | - -

14 At — 2t2 3+14sinnt 2/3 | - - 30

15 0,2t3 +1 5J§(t2 +t) 2 | = | 60 | 45

16 t—0,5t2 20sinmt 13| - | 20 -

17 0,5t 8t3 + 2t 1| - | 45| -

18 8t —t* 10t +t3 - - | 60

19 t+3t2 6t + 4t° 45 | - -

20 6t +12 30ncos(nt/6) 60 | - —

21 ot _ a2 257:('[2 +t) 12 | 25 | - _

22 4t—0,2t* 10msin(nt/4) | 23 | 30 | - -

23 2t —0,25t2 3t2 4 4t 2 | - | - 30

24 2t 0.3t2 757t(0,lt+0,3t3) 1|30 - -
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25 10t — 0,1t 2 15sin(nt/3) 5 | — _ _

26 _ont? 8cos(nt/2) 32 | — - 45

217 t-0,5t3 10v/2ncos2nt 1/8 | 30 - -

28 2t3 —5t 2,5mt? 2 | 40| - -

29 0,6t2 6/6sin(nt/16) | 4 |36 | - 30

30 2t2 —3t 5./3t3/3 2 |20] - 30
Tabnwnma 28
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